ASSEMBLY INSTRUCTION
ITEM NO: SH1186-36: 6-PIECES PACK COUNTER HEIGHT SET

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may have come loose inside the carton during shipment.

PARTS/TABLE HARDWARE LIST / TABLE
NO Description Sketch Qty NO Description Size Qty
A |Table Top O 1PC 1 |Long Bolt @5/16" x 60mm 8PCS
2 Lock Washer @5/16"x13D x 2mm| 8PCS
B |Tableleg / 4PCS 3 |Fiat washer @5/16"x19D x 2mm| 8PCS
4 Allen Key 4mm 1PC
Step 1
Completed
7
PAGE10OF 3 MADE IN VIETNAM




ASSEMBLY INSTRUCTION
ITEM NO: SH1186-36: 6-PIECES PACK COUNTER HEIGHT SET

Thank you for purchasing this quality product. Be sure to check all packing material carefully for
small parts that may have come loose inside the carton during shipment.

PARTS/BENCH HARDWARE LIST / BENCH
NO Description Sketch Qty NO Description Sketch Size Qty
A Seat Cushion & 1PC 1 |Long Bolt @5/16" x 60mm 8PCS
e, 2 | Lock Washer (> @5/16"x13D x 2mm| 8PCS
B Seat Frame 1pC
3 |Flat Washer @5/16"x19D x 2mm| 8PCS
—F
C Set Leg Left/Right / 4PCS
4 Allen Key F 4mm 1PC
Long Side Stretcher
D 9 2PCS 5 |Screw P> #4"x25mm 11PCS
E  |Short Side Stretcher / 2PCS 6 |Screw Epezmozoo- #4"X50mm 8PCS

Completed

MADE IN VIETNAM

PAGE2OF 3




ASSEMBLY INSTRUCTION
ITEM NO: SH1186-36: 6-PIECES PACK COUNTER HEIGHT SET

Thank you for purchasing this quality product. Be sure to check all packing material carefully for

small parts that may have come loose inside the carton during shipment.

PARTS/ CHAIR HARDWARE LIST / CHAIR
NO Description Qty NO Description Size Qty
A Chair Back pC 1 |Long Bolt 214" x 75mm 4PCS
2 Medium Bolt @1/4" x 50mm 4PCS
B Seat Frame 1PC
3 | short Bolt @1/4" x 38mm 2PCS
C Seat Cushion 1PC
4 Lock Washer <=>) @1/4"x11D x 2mm| 10PCS
D |FrontLeg Set Left/Right 2PCs 5 | Flat Washer @1/4"x19D x 2mm | 10PCS
E Left & Right Stretcher 2PCS 6 | Allen Key F 4mm 1PC
7 Screw @mm "
F Front Stretcher 1PC #4"x38mm 12PCS

Completed

DO NOT TIGHTEN BOLTSUNTIL COMPLETELY ASSEMBLED.

It isrecommended to install protective pads under all legs and supports to avoid damage or scratches when placing furniture on

awood floor or other hard surface, and to limit indentation and prevent discoloration if placing on carpet.

PAGE 3OF 3

MADE IN VIETNAM




	AI-1186 Model (1)
	AI-1186 Model (1)
	AI-1186 Model (1)

